Ratio to UA1

E d3cr/dp3 [mb,rpsquareGeV]

=
<
I

10*

E

N
H
o LR <

=

1072

900 GeV ppbar
I I I | I

Charged Particle sk Spectrum (UA1, all p )

Soft QCD

Ll IIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIllI IIIIIIllI IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIllI |IIIIIII| [

u
--3-- Herwig 7.2.0 default )
—— Pythia 8.176 default ‘!"\\E
| | | | | |
T T | T T T
- A
|
’ —
1 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 I\\ 1
2 4 6 8

Rivet 3.1.0, = 3.5M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


